PATHOLOGY EXAM 2 2006
1. Since tooth structure derives from both the ectoderm and the mesoderm, teeth are often present in which of the following neoplasms?

A. Lymphoma

B. Malignant melanoma

C. Mature teratoma

D. Hepatocellular carcinoma 

E. Wilms tumor

2. A fibrous capsule is usually present in which of the following neoplasms?

A. Rhabdomyosarcoma

B. Osteosarcoma

C. Squamous cell papilloma

D. Pleomorphic adenoma

E. Angiosarcoma

3. Atypical mitotic figures are frequently observed in which of the following neoplasms?

A. Lipoma

B. Chondroma
C. Bronchial adenoma

D. Lymphangioma

E. Fibrosarcoma

4. An 82 year old man develops a white patch in the floor of the mouth. Histology of the biopsy specimen of this white patch shows epithelial dysplasia. This lesion is considered as a forerunner of which neoplasm?

A. Liposarcoma

B. Squamous cell carcinoma

C. Leiomyoma

D. Salivary duct papilloma

E. Nervus

5. Which of the following is one of the major lethal cancers in children?

A. Leukemia

B. Lung cancer

C. Colon cancer

D. Liver cancer

E. Stomach cancer

6. Burkitt’s lymphoma usually occurs in the mandible of young children. It can result from translocation of a proto-oncogene from chromosome 8q24 to chromosome 14q32. What is this specific proto-oncogene?

A. C-myc

B. C-abl

C. C-sis

D. C-ras

E. C-fes

7. Which cancer suppressor gene shows homozygous loss or mutation virtually in every type of cancer?

A. BRCA-1

B. APC

C. NF-2

D. Rb

E. P53

8. When cells are exposed to mutagenic agents and cannot repair DNA damage, they may undergo apoptosis, which is induced by an apoptosis-inducing gene. What is this gene?

A. C-ras

B. NF-1

C. Bcl-2

D. BRCA-1

E. P53

9. The growth of tumors requires blood supply. Which of the following can induce new blood vessel formation (angiogenesis) in tumor tissue?

A. Histamine

B. Amylase

C. Basic fibroblast growth factor

D. Thrombospondin-1

E. Angiostatin

10. Which of the following is the most significant etiologic factor in the pathogenesis of squamous cell carcinoma of the uterine cervix?

A. Benzo[a]pyrene

B. Human papillomavirus types 16 and 18
C. Aflatoxin B1

D. Hepatitis B virus

E. Irradiation to the pelvis

11. Which of the following designates progressive loss of body fat and lean body mass in cancer patients?

A. Anemia

B. Cachexia

C. Dementia

D. Anorexia

E. Dyskinesia

12. Which of the following can secrete parathyroid hormone related protein to produce the paraneoplastic syndrome of hypercalcemia?


A. Pleomorphic adenoma of the parotid gland

B. Leiomyoma of the uterine wall

C. Osteoma of the mandible

D. Squamous cell carcinoma of the lung

E. Chromophobe adenoma of the pituitary gland

An 87 year old man has an ulcerated lesion at the right border of his tongue. The lesion measures 2.5cm x 1.8 cm. This patient also has an enlarged lymph node, which measures 1.2 cm in diameter, on the right side of his neck. Biopsies of both the tongue lesion and the lymph node show a highly anaplastic squamous cell carcinoma with numerous mitotic figures and no production of keratin. CT scan of the whole body of this patient shows no metastatic lesions in other organs. The following three questions are related to this patient.

13. What is the histologic grading of this cancer?
A. Grade 0

B. Grade I

C. Grade II

D. Grade III

E. Grade IV

14. What is the clinical staging of this cancer based on the TNM system?

A. T1N1M0

B. T1N2M0

C. T2N1M0

D. T2N2M0

E. T2N3M0

15. What is the clinical staging of this cancer based on the AJC system?

A. Stage 0

B. Stage I

C. Stage II

D. Stage III

E. Stage IV

16. Why does obesity increase the risk of diabetes?

A. Because body cells develop resistance to insulin

B. Because adipocytes produce leptin

C. Because autoimmune reaction destroys islet beta cells

D. Because the excretion of glucose by the kidney is increased

E. Because the utilization of triglycerides by the liver is increased

17. Which of the following can reduce the chance of atherosclerosis?

A. Polyunsaturated fatty acids

B. Low fiber diet

C. Diet with a high homocysteine content

D. Low density lipoproteins

E. High fat diet

18. Which of the following is the most important prominent oral manifestation in zinc deficient subjects?

A. Rampant dental caries

B. Mandibular prognathism

C. Hyperparakeratosis and mucositis

D. Bifid tongue

E. Generalized hypercementosis

19. Gingival hemorrhage in scurvy results from which of the following?

A. Thrombocytopenia

B. Rupture of berry aneurysms

C. Deficiency of coagulation factor VIII

D. Fragile capillaries

E. Arteriolar atherosclerosis

20. Which of the following changes in salivary glands gives rise to xerostomia in Vitamin A deficiency?
A. Hyperplasia of stromal connective tissue

B. Squamous metaplasia of duct epithelium

C. Hypertrophy of mucous cells

D. Atrophy of oncocytic cells

E. Dysplasia of acinar cell

21. Patients who develop coronary atherosclerosis and myocardial infarct before 20 years of age, most commonly have which of the following conditions?

A. Juvenile diabetes

B. Familial hypercholesterolemia

C. Essential hypertension

D. Heavy smoking and smokeless tobacco use

E. Alcohol abuse

22. What is the vascular change most frequently associated with essential hypertension?

A. Hyperplastic arteriosclerosis

B. Aortic dissection

C. Necrotizing vasculitis

D. Hyaline arteriosclerosis

E. Giant cell arteritis

23. The tongue is the most common site for which of the following neoplasms?

A. Liposarcoma

B. Adenoma

C. Lymphangioma

D. Teratocarcinoma

E. Osteoma

24. What is the major cause for the development of an abdominal aortic aneurysm?

A. Inflammation of the aortic wall

B. Hypertension

C. Genetic defect of elastic fibers

D. Occlusive thrombus

E. Atherosclerosis

25. An elderly patient develops a nodule within the left lingual vein, which shows varicosity. The tissue distal to this nodule towards the tip of the tongue is swollen and cyanotic. What most likely is this nodule?

A. Phlethrombus

B. Cavernous hemangioma

C. Salivary stone

D. Kaposi’s sarcoma

E. Cartilaginous choristoma

26. The organ that bears the brunt of ill-effects of air pollution is the:

A. Liver

B. Brain

C. Heart

D. Lungs

E. Pancreas

27. The pollutant most commonly associated with the highest prevalence of disease is:

A. Lead

B. Tobacco smoke

C. Radon gas

D. Silica

E. Asbestos

28. Progressive massive fibrosis often occurs in:

A. Acute toxicity to lead

B. Acute alcohol induced hepatitis

C. Silicosis of the lung

D. Salicylism 

E. Acetaminophen overdose

29. The neoplasm most commonly associated with long term exposure to asbestos is:

A. Pancreatic carcinoma

B. Breast carcinoma

C. Osteosarcoma

D. Lymphoma

E. Mesothelioma

30. Newer formulations of oral contraceptives:
A. Have much high concentrations of estrogen present compared to original formulations

B. Pose an increased risk for endometrial carcinoma compared to original formulations

C. Pose an increased risk for ovarian cancer

D. Pose an increased risk for thromboembolism

E. Cause salicylism

31. Aspirin induces increased bleeding tendency and formation of petechiae by:

A. Inhibiting production of glucocorticoids 

B. Inhibiting lipoxygenase

C. Inhibiting platelet cyclooxygenase

D. Inhibiting the formation of lipoxins

E. Enhancing the action of histamine

32. In chronic alcoholism, it is speculated that the chemical responsible for tissue injury is:

A. Acetaldehyde

B. Ethanol

C. Pyruvate

D. Lactic acid

E. Arachidonic acid

33. Endocarditis of the right side of the heart and the tricuspid valve, and foreign body granulations in the lungs are consistent with:

A. Chronic alcoholism

B. Acute lead poisoning 

C. Intravenous drug abuse

D. Acetaminophen overdose

E. Hyperthermia

34. The leading cause of death in extensive, severe thermal burns is:

A. Edema

B. Infection

C. Hypovolemic shock 

D. Allergy to prescribed antibiotics

E. Damage to airway by inhaled fumes

35. The most significant macromolecule damaged by ionizing radiation is:

A. Phospholipids of the cell membrane

B. Cytochromes C in the mitochondria

C. Na/K ATPase

D. DNA

E. Integrins in the cell membrane

36. In adults, a symptomatic primary infection with herpes simplex virus type I presents as:

A. Shingles

B. Acute herpetic gingivostomatitis

C. Herpes labialis

D. Chickenpox

E. Pharyngotonsilitis 

37. The virus responsible for chickenpox is:

A. Varicella zoster virus

B. Herpes simplex virus

C. Human papilloma virus

D. Epstein-Barr virus

E. Cytomegalovirus

38. The virus that infects B lymphocytes is:

A. Cytomegalovirus

B. Herpes simplex virus type 2

C. Kaposi’s sarcoma herpes virus

D. Human papilloma virus

E. Epstein-Barr virus

39. Which infection gives rise to sulfur granules?

A. Histoplasmosis

B. Erythematous candidiasis
C. Actinomycosis

D. Mucormycosis
E. Syphilis

40. Which of the following diseases gives rise to aneurismal changes of the aortic root affecting the coronary arteries and aortic valves?
A. Actinomycosis

B. Tertiary syphilis

C. Miliary tuberculosis

D. Infectious mononucleosis

E. Scarlet fever

41. Antibody-dependent cell mediated cytotoxicity is a form of:

A. Type I hypersensitivity reaction

B. Type II hypersensitivity reaction

C. Type III hypersensitivity reaction

D. Type IV hypersensitivity reaction

E. Delayed-type hypersensitivity

42. A systemic type I hypersensitivity reaction is the basis of:

A. Anaphylaxis

B. Systemic lupus erythematosus

C. Hives

D. Asthma

E. Acute graft rejection

43. An acute necrotizing vasculitis (fibrinoid necrosis) is a characteristic finding in:

A. Type I hypersensitivity reactions

B. Type II hypersensitivity reactions

C. Hypersensitivity caused by immune complex formation

D. Graves disease

E. Myasthenia gravis

44. Graft vs. host disease is a significant potential complication following:

A. Kidney transplantation

B. Heart transplantation

C. Heart-lung transplantation

D. Liver transplantation

E. Allogenic bone marrow transplantation

45. Glomerulonephritis most commonly occurs in:

A. Myasthenia gravis

B. Systemic lupus erythematosus

C. Rheumatoid arthritis

D. Systemic sclerosis

E. CREST syndrome

46. Inflamed, proliferating granulation and synovial tissues is a characteristic finding in:

A. Systemic sclerosis

B. Myasthenia gravis

C. Ankylosing spondylitis

D. Rheumatoid arthritis

E. Scarlet fever

47. The disease process with a very high association with HLA-B27 is:

A. Sjogren’s syndrome

B. Ankylosing spondylitis

C. CREST syndrome

D. Asthma

E. Xerostomia

48. A 43 year old woman with thin, stiff fingers, kidney failure due to extensive fibrosis, and anti-Scl-70 antibodies in her serum is most likely suffering from:

A. Systemic lupus erythematosus

B. Systemic sclerosis

C. Bruton’s disease

D. Graves disease

E. Rheumatoid arthritis

49. A defect in the development of the 3rd and 4th pharyngeal pouches resulting in an immunologic deficiency is:

A. Chediak-Higashi syndrome

B. Bruton’s disease

C. CREST syndrome

D. DiGeorge’s syndrome

E. Sjogren’s syndrome

50. A key clinical finding that defines AIDS in an HIV-infected person is:

A. Persistent generalized lymphadenopathy

B. Seroconversion

C. CD4+ T cell count less than 200/microliter of blood

D. Production of CD8+ T cells against virally infected cells

E. Infection of macrophages
